
Time: 10 Minutes Paper Math 6 (T-1) Total Marks: 10

1st Month, 4th Week, 3rd Day Unit # 1: Factors and Multiples

Q.1. Choose the correct options.   (0.5x 6 = 3)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) The set of integers is mostly denoted by English capital letter.

9999ZZZZ°°°°ZZZZŠŠŠŠÆÆÆÆÃÃÃÃLLLLÃÃÃÃZZZZ‹‹‹‹ÆÆÆÆwwwwssssÐÐÐÐªªªªCCCCÙÙÙÙ™™™™DDDD÷÷÷÷XXXX

(a) N (b) W (c) Q (d) Z

(ii) The integer which is neither positive nor negative is:

ZZZZ((((9999°°°°ŠŠŠŠ����::::ÂÂÂÂµµµµƒƒƒƒZZZZzzzzgggg::::„„„„ttttƒƒƒƒÔÔÔÔBBBB@@@@****ìììì::::

(a) 0 (b) 1 (c) 2 (d) 3

(iii)The opposite numbers of +2 and –3 are: ÆÆÆÆ####³³³³ZZZZ°°°°ZZZZŠŠŠŠ÷÷÷÷:::: –3 ZZZZzzzzgggg +2

(a) +2 and –3 (b) –2 and 3 (c) –2 and –3 (d) 2 and 3

(iv)The numerical value of –345 is: ÅÅÅÅ°°°°ŠŠŠŠ~~~~7777ìììì:::: –345

(a) –345 (b) 3405 (c) 34 (d) 345

(v) On number line the distance between any two integers is always:

����ÑÑÑÑíííí6666,,,,ŠŠŠŠzzzz9999ZZZZ°°°°ZZZZŠŠŠŠÆÆÆÆŠŠŠŠggggxxxxyyyyÃÃÃÃ,,,,ååååƒƒƒƒ@@@@****ìììì::::

(a) Half WŠJ (b) Doubled ŠzkH (c) Triple &kH (d) Equal ',Z',

(vi)The descending order of: 1, -1, 0, 2, -3, 5 is:

ÅÅÅÅFFFF,,,,KKKKMMMM4444,,,,zzzzààààìììì:::: 1, -1, 0, 2, -3, 5

(a) –3, –1, 0, 1, 2, 5 (b) 0, 1, –1, 2, –3, 5

(c) 5, 2, 1, 0, –1, –3 (d) –1, 0, 1, 2, –3, 5

Q.2.Define integers and natural numbers. (1×2=2)

9999ZZZZ°°°°ZZZZŠŠŠŠZZZZzzzzggggŠŠŠŠggggCCCCZZZZ°°°°ZZZZŠŠŠŠÅÅÅÅ°°°°pppp™™™™,,,,XXXX
Q.3.Arrange the following integers in ascending and descending

order. –6, 5, –2, 0, 8, 3 (1×2=2)

–6, 5, –2, 0, 8, 3 ŠŠŠŠgggg`̀̀̀ffffssss9999ZZZZ°°°°ZZZZŠŠŠŠÃÃÃÃFFFF,,,,KKKKMMMMùùùùŠŠŠŠ~~~~ZZZZzzzzgggg4444,,,,zzzzàààà~~~~FFFF,,,,KKKKMMMMŠŠŠŠ,,,,XXXX

Q.4.Represent the following absolute values on the number line.

–|8|, |–11|, –|–4|, |3|, |–7|, –3

(1×3=3) ����ÑÑÑÑíííí6666,,,,ŠŠŠŠgggg`̀̀̀ffffssssÇÇÇÇ††††VVVVÃÃÃÃªªªªCCCCÙÙÙÙ™™™™,,,,XXXX
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